



Determine which number correctly answers both equations.

Answers

1) \_\_\_\_\_ + 1 = 20  
 20 - 1 = \_\_\_\_\_

2) \_\_\_\_\_ + 7 = 11  
 11 - 7 = \_\_\_\_\_

3) \_\_\_\_\_ + 3 = 20  
 20 - 3 = \_\_\_\_\_

4) \_\_\_\_\_ + 9 = 12  
 12 - 9 = \_\_\_\_\_

5) \_\_\_\_\_ + 8 = 20  
 20 - 8 = \_\_\_\_\_

6) \_\_\_\_\_ + 5 = 20  
 20 - 5 = \_\_\_\_\_

7) \_\_\_\_\_ + 2 = 18  
 18 - 2 = \_\_\_\_\_

8) \_\_\_\_\_ + 3 = 17  
 17 - 3 = \_\_\_\_\_

9) \_\_\_\_\_ + 7 = 13  
 13 - 7 = \_\_\_\_\_

10) \_\_\_\_\_ + 1 = 13  
 13 - 1 = \_\_\_\_\_

11) \_\_\_\_\_ + 3 = 8  
 8 - 3 = \_\_\_\_\_

12) \_\_\_\_\_ + 3 = 15  
 15 - 3 = \_\_\_\_\_

13) \_\_\_\_\_ + 6 = 15  
 15 - 6 = \_\_\_\_\_

14) \_\_\_\_\_ + 1 = 17  
 17 - 1 = \_\_\_\_\_

15) \_\_\_\_\_ + 2 = 5  
 5 - 2 = \_\_\_\_\_

16) \_\_\_\_\_ + 4 = 19  
 19 - 4 = \_\_\_\_\_

17) \_\_\_\_\_ + 9 = 11  
 11 - 9 = \_\_\_\_\_

18) \_\_\_\_\_ + 1 = 19  
 19 - 1 = \_\_\_\_\_

19) \_\_\_\_\_ + 3 = 7  
 7 - 3 = \_\_\_\_\_

20) \_\_\_\_\_ + 7 = 18  
 18 - 7 = \_\_\_\_\_

1. \_\_\_\_\_
2. \_\_\_\_\_
3. \_\_\_\_\_
4. \_\_\_\_\_
5. \_\_\_\_\_
6. \_\_\_\_\_
7. \_\_\_\_\_
8. \_\_\_\_\_
9. \_\_\_\_\_
10. \_\_\_\_\_
11. \_\_\_\_\_
12. \_\_\_\_\_
13. \_\_\_\_\_
14. \_\_\_\_\_
15. \_\_\_\_\_
16. \_\_\_\_\_
17. \_\_\_\_\_
18. \_\_\_\_\_
19. \_\_\_\_\_
20. \_\_\_\_\_



Determine which number correctly answers both equations.

$$1) \quad \underline{19} + 1 = 20$$

$$20 - 1 = \underline{19}$$

$$2) \quad \underline{4} + 7 = 11$$

$$11 - 7 = \underline{4}$$

$$3) \quad \underline{17} + 3 = 20$$

$$20 - 3 = \underline{17}$$

$$4) \quad \underline{3} + 9 = 12$$

$$12 - 9 = \underline{3}$$

$$5) \quad \underline{12} + 8 = 20$$

$$20 - 8 = \underline{12}$$

$$6) \quad \underline{15} + 5 = 20$$

$$20 - 5 = \underline{15}$$

$$7) \quad \underline{16} + 2 = 18$$

$$18 - 2 = \underline{16}$$

$$8) \quad \underline{14} + 3 = 17$$

$$17 - 3 = \underline{14}$$

$$9) \quad \underline{6} + 7 = 13$$

$$13 - 7 = \underline{6}$$

$$10) \quad \underline{12} + 1 = 13$$

$$13 - 1 = \underline{12}$$

$$11) \quad \underline{5} + 3 = 8$$

$$8 - 3 = \underline{5}$$

$$12) \quad \underline{12} + 3 = 15$$

$$15 - 3 = \underline{12}$$

$$13) \quad \underline{9} + 6 = 15$$

$$15 - 6 = \underline{9}$$

$$14) \quad \underline{16} + 1 = 17$$

$$17 - 1 = \underline{16}$$

$$15) \quad \underline{3} + 2 = 5$$

$$5 - 2 = \underline{3}$$

$$16) \quad \underline{15} + 4 = 19$$

$$19 - 4 = \underline{15}$$

$$17) \quad \underline{2} + 9 = 11$$

$$11 - 9 = \underline{2}$$

$$18) \quad \underline{18} + 1 = 19$$

$$19 - 1 = \underline{18}$$

$$19) \quad \underline{4} + 3 = 7$$

$$7 - 3 = \underline{4}$$

$$20) \quad \underline{11} + 7 = 18$$

$$18 - 7 = \underline{11}$$

Answers1. 192. 43. 174. 35. 126. 157. 168. 149. 610. 1211. 512. 1213. 914. 1615. 316. 1517. 218. 1819. 420. 11